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QUESTION 1

A Simple Mail Transfer Protocol (SMTP) integration is critical for monitoring Vault activity and facilitating workflow
processes, such as Dual Control.

A. True
B. False

Correct Answer: B

QUESTION 2

What are the functions of the Remote Control Agent service? (Choose three.)

A. Allows remote monitoring the Vault

B. Sends SNMP traps from the Vault

C. Maintains audit data

D. Allows CyberArk services to be managed (start/stop/status) remotely

Correct Answer: ABD

Reference: https://docs.cyberark.com/Product-Doc/OnlineHelp/PAS/Latest/en/Content/PAS%20INST/Privileged-Accoun

t-Security-Remote-Administration.htm#:~:text=The%20CyberArk%20Vault%20Remote%20Control,and%20the%
20Disaster%20Recovery%20Server

QUESTION 3

The password upload utility can be used to create Safes.
A. True

B. False

Correct Answer: A

Reference: https://docs.cyberark.com/Product-Doc/OnlineHelp/PAS/Latest/en/Content/PASIMP/Password-Upload-
Utility.htm#_Ref364685337

QUESTION 4
PSM for SSH (previously known as PSM-SSH Proxy) supports connections to which of the following target systems?
A. Windows

B. Unix



C. Oracle
D. All of the above
Correct Answer: B

Reference: https://docs.cyberark.com/Product-Doc/OnlineHelp/PAS/Latest/en/Content/PASIMP/Introduction-to-
PSMP.htm#:~:text=PSM%20for%20SSH%20enables%20end,clients%200r%20the%20SCP%20command

QUESTION 5

Which is the purpose of a linked account?

A. To ensure that a particular collection of accounts all have the same password.

B. To ensure a particular set of accounts all change at the same time.

C. To connect the CPM to a target system.

D. To allow the use of additional passwords within a password management process.

Correct Answer: B

Reference: https://docs.cyberark.com/Product-Doc/OnlineHelp/PAS/Latest/en/Content/PASIMP/Linked-Accounts.htm#:

~:text=The%?20linked%20accounts%20feature%20enables,t0%20change%?20the%?20original%20password.andtext=Wh
en% 20the%20linked%20accounts%20are,0f%20the%20Account%20Details%20page

QUESTION 6

The password upload utility must run from the Central Policy Manager (CPM) server.
A. True

B. False

Correct Answer: B

Reference: https://docs.cyberark.com/Product-Doc/OnlineHelp/PAS/Latest/en/Content/PASIMP/Password-Upload-
Utility.htm

QUESTION 7

When the PSM Gateway (also known as the HTML5 Gateway) is implemented, users must have an RDP client, such as
MSTSC, installed on their endpoint in order to launch connections via the PSM.

A. True

B. False. When the PSM Gateway is implemented, the user only requires a browser in order launch a connection via the
PSM.

Correct Answer: B



Reference: https://docs.cyberark.com/Product-Doc/OnlineHelp/PAS/Latest/en/Content/PASIMP/PSSO-
ConnectingDirectly.htm

QUESTION 8

The PSM requires the Remote Desktop Web Access role service.
A. True

B. False

Correct Answer: A

Reference: https://docs.cyberark.com/Product-Doc/OnlineHelp/PAS/Latest/en/Content/PAS%20INST/Before-Installing-
PSM.htm

QUESTION 9

According to the default web options settings, which group grants access to the reports page?
A. PVWAUSsers

B. Vault administrators

C. Auditors

D. PVWAMOonitor

Correct Answer: D

Reference: https://docs.cyberark.com/Product-Doc/OnlineHelp/PAS/Latest/en/Content/PASIMP/ReportsInPVWA.htm#:~
:text=Reports%20can%20be%20generated%20in,this%20is%20the%20PVWAMOonitor%20group

QUESTION 10

If a transparent user matches two different directory mappings, how does the system determine which user template to
use?

A. The system will use the template for the mapping listed first.

B. The system will use the template for the mapping listed last.

C. The system will grant all of the Vault authorizations from the two templates.

D. The system will grant only the Vault authorizations that are listed in both templates.

Correct Answer: A

QUESTION 11



When managing SSH keys, the Central Policy Manager (CPM) stores the private key
A. in the Vault

B. on the target server

C. in the Vault and on the target server

D. nowhere because the private key can always be generated from the public key
Correct Answer: A

Reference: https://docs.cyberark.com/Product-
Doc/OnlineHelp/PAS/Latest/en/Content/SSHKM/Managing%20SSH%20Keys.htm

QUESTION 12

Which of the following is NOT a use case for installing multiple Central Policy Managers (CPM)?
A. A single CPM cannot accommodate the total number of accounts managed.

B. Accounts are managed in multiple sites or VLANSs protected by firewall.

C. Reduce network traffic across WAN links.

D. Provide load-balancing capabilities when managing passwords on target devices.

Correct Answer: A
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